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=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Find the median of the data 10, 8, 5, 3, 9,6, 12, 14, 13, 7, 1
31'@% 10,8,5,3,9,6, 12, 14,13, 7, 1 GARIER A Eﬁllﬁll}l

a) s
b) 10
C) o
d) 14
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Find the number of sides of a regular polygon whose each exterior angle
measures 40°.

Uh H dghdd Dl Yol Bl TRAT JTd DIy, (o Y €16l HIUT I HIT 40°
gl

a)’
b) 8
C) ©
d) 1o
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If a certain sum of money Rs. 729 becomes Rs. 1331 in 3 years. Then, find the
rate of compound interest.

gi¢ 729 %, @I U [ATYA AR 3 a8 H 1331 %. 8l Sl © dl dehdla 4TSl B &R Id
DIy

a) 165 %
b) 265%
C) 25 %
d) 222%
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Find the amount if the sum of Rs. 1600 is compounded at 10% half yearly for 1

year.
gfe 1600 ¥UU &I TUdh I8 & 01U 10% Bt & I 3¢ difiis =9  Tgiford fooar STl
& a9 e 31d SIS
a) Rs. 1823
) Rs. 1646
c) Rs. 1764

d) rs. 1720
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What will be the remainder when 67° is divided by 5?

676 B 5 Y HAT &1 R ANHd T 3?2

a) 2
b) 1
C)3
d) .
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The simple interest on a certain sum of money at the rate of 5% p.a. for four
years is Rs. 420. At what rate of interest, the same amount of interest can be
received on the same sum after two and half years?

5% TN ST DT X J IR a1 & ferg T RS eR1f2r oR ured Aremor sarot
420 ¥TU g | Il <11 D fbd G WR els Ay |1 JHM R R G & IHH AR
Tt &1 ST bl 672
0
a) 4%

b) 6%
C) 8%
d) 10%
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A dishonest shopkeeper sells goods at 10% loss on cost price but uses 20%
less weight. Find the actual gain or loss percentage:

QP sgH GPHER IXGSHl Pl T Hed TR 10% Pl 1A TR o4l , a1 20%
HH IOl DI IUGNT Hdl © | IRAIdD 1 g1 81+ UidRId J1d Difoi:

a) 125%loss

b) 12.5% gain

c) 11.11% loss

d) 11.11% gain
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A shopkeeper allows 25% discount on the marked price of an article and still
makes a profit of 20%. then what will be the ratio of the cost price and the
marked price of an article?

Uh GhHGR Uh 9¥d b 3ifbd e W 25% Pl e UaH Hdl g AR T 4t 20%
DT AT HSId DAl g, dl I K] P hd Hed AR 3ifdd e DI 3Urd &1 g2

a)8:5
b)s:8
C) 3:4
d) s
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Ayan went from Ato B at a speed of 10 km/h and returned from Bto A at a
speed of 30 km/h. What was his average speed in the whole journey?

3141 10 foHl/eer ot 1fd A T & db 741 3R 30 {dHl/Ee o 1fd & G TR
cle 31aT| G g | 34t 3{19d i &r 412

3 ) 30 km/h

b) 45 km/h

C) 25km/h

d) 15 km/m




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

At present, the ratio of the ages of Maya and Chhaya is 6 : 5 and fifteen years
from now, the ratio will get changed to 9 : 8. Maya's present age is

AT H, HIAT 3R ST DI 311G BT 3JUIT 6 : 5 37 3 H 15 I dcp, ST 9 : 8
4 gfRafcd g1 SIuTm| {Arm o dad S1g =1 872

a) 21 years

b) 24 years
C) 30 years

d) 40 years




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Find the mean proportional between 8 and 98.

8 3R 98 & dId T 3{Ulfcid HIH T DIfoIU|

a) 6
b) 53
C) 112
d) 2
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By selling 22 plates for Rs.297, the seller lost 10%. How many plates should a
seller sell for Rs.180 to make a profit of 20%7?

22 @IeH Bl 297 3UY H g W, fdehdl dl 10% DI 81 851 20% DT 1Y HH &
feTu U fashdl &l 180 ¥Ud ¥ fdhd-l wic dg! d1igu?

a) s
b) 15
C) 10
d)”




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A can finish a work in 20 days and B can finish the same work in 25 days. They
began together, but B left the work after 5 days. How many more days will A

take to finish the remaining work?

ATH HTH Bl 20 91 § I BT Ihdl & 3R B IHH H1H Bl 25 e & T

ghdl o1 9 PR HTH HAI U= DI @, o

/b B, 5 &A1 & &G BTH BIS adl o

dl Y HTH B FH B3 F 00 A 3R A

& T

3) 16
b) e
C) 21
d) 1



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The simple interest on a certain sum at the end of three years at 5% p.a. is Rs.
1,200. The compound interest on the same sum for the same period at the
same rate is (interest compounded yearly).

5% A& IS DI &3 I di- a8f & 3fd § T [AfSd IR IR T4 91am 4Rl
157 1,200 U g | I THH TS I 23 IR A e & fow a1 iR R
b dlea STSl (751 dIf¥eh =Y I JIfSId gidl §) FT 672

a) Rs.820
b) rs. 1.800

C) Rs. 1,260

d) Rs. 1,261




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The value of 27a° — 2\/2b? is equal to:
27a% — 2\2b3 BT A fb g aRTeR 57

a) (3a — V2b)(9a® + 2b? + 312 ab)

) (3a — V2b)(9a® + 2b? + 612 ab)
) (3a - 2b)(9a® - 2b? + 672 ab)

d) (3a — \2b)(9a% — 2b? — 32 ab)
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A person marked his goods at a price that would give him 40% profit. But he
declared a sale and allowed 20% discount on the marked price. What is the
profit percentage of the person in the whole transaction?

Uch fad 30U Gxg3HT Dl 37 DId R [fgd Bl g Sl 3 40% 1Y U DT
dfdh- 3G U faehl DI 9NN Bl 3R 3{fdhd Ted U 20% §¥ UaH DIl dl IR
e 1 fad &l a1y Uid=rd 1 g2

a) 20%
b) 30%
C) 32%
d) 12%




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If 66.66% discount is offered on marked price of an article, then selling price
becomes equal to the cost price of that article. What is the marked up
percentage?

gl fadl q%g,ch 3ifhd g UR 66. eeﬂfoﬁ@?ﬁaﬁa‘ dl fashd el 39 R &
b Hed & &xIaR gl oldl g | aftid Sifdbd Hed Wid=Id o1 872

a) 200%

b) 100%
C) 150%

d) 300%
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A boat goes 120 km along the stream in 6 hours while it goes 50 km against the
stream in 5 hours. How much time the boat will take to cover 105 km distance in
still water?

U 14 6 °c H 4RT & I 120 bl Sl g Saldh 5 8¢ H 4RI & [dv< 50 fhH!
SiTdll g1 IR 51 H 105 fbHl I g2 a8 B H A1d Bl fdba-11 I8 T2

a) 11 hrs

b) 5 hrs
C) 9 hrs
d) 7 hrs
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A man purchases some number of apples at the rate of 36 for

Rel. How many apples for a rupee should he sell to gain 44%
profit?

U AfFd 13 & 36 hI X @ $o Ad Wedl g , ATd Sl
44% T STH FATT & 0T Th 9T A hday A ST g9
2)20 b)25 ¢)24 d)28




=) %Wd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

<Ishdll5, SATST I HTLTUT SATST o sfi<f 2 9N 37 3 91 o I T 3T{ATd
9:31 gl tlsvhoCHT& TS eh! ATTYeh & 1 h{? The ratio of the difference

between 2 years and 3 years between compound interest and simple

interest 1s 9:31, then find the annual rate of compound interest.?

1 441"/

. 9 0

2 571"/

. 7 0
2

3. 66-%

3
4. NONE
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. A man purchases a motor bike for a certain price and promise to pay the
price in two equal annual installments of Rs.882(0 at the rate of 5% per
annum compounded annually. Find the cost price of motor bike.?te 3TTeHT U

At 9o & foTu ueh Aiet arges GHiEar 8 3R AreEr 5% i aius W H E.8820 hi A
T ATk {REAT W SHIHA YT ST FTET HIAT 2| WIS hl AT Tod HTd hi g

a)Rs.16400 b)Rs.17640 ¢)Rs.16200 d)Rs.17200




